1 I 2 3 4 5 I 6 I 7 8 I 9 I 10
O\ | 2271028 7-rv-stmEEE . A MmN E [IT::| - — J -
A\ | 2273704 PBigmiz i 5 2 [T ::] BELH ke L ”‘;f /_(/ ééﬁi;% ME | Ah mE
" = 1 |[~R— NS 4% vAMR & £ 1
€ AZE N3 X 8/1vekA—N3 X 845 NCON-030-383 PB Ux OM Ux - A TR 1
s N AIREER ILIE T @ U0:USBE L 2 [H1 PBT 24(UL V-0)
Rev. Date Content Name " 3 [AvY ABS Dy)EIEE AMMERE 1
UA:USB-A 4 | RAT&RER M3 X 8/NTELR(A-R&HEBN X VETEFR) | 4
/A UB:USB-B 5 [FEARER [M5x1077 b 1
D -2, @I ~HE © CM:hEF 6 [AfH@ER M5 mEmmES 1
I?EEEBIIIGE\Ifg)XI UO:USBZE L 7[30 THE2/28 R MADOKA | 1
- - - 71N 8 _ __ L __
UA:USB-A = — — —
PBT & (X7-2&B (2% /) UB:USB-B
[FENTT L — — —
- f I A — I
i N
| i 4 I — | 40 |
| — ) @0 | O o |
| NS T ! !
O B | |
I - = |, : :
| @3 © | | |
| | | |
I I
I ‘ I
I N : I I
! I
| I (] N | |
o I
5 1 — - © e |
,_ I
I ] [ G & I | !
| | | | | }
I 2541 0y } | |
| -1 V3N -% I | |
‘ AL TR ‘ I I
LTCRED I
I e = | : :
<C ') O ] I I
I 5 e @3 . | |
- @ ) | o I ‘
I <§( T - _ I |
| _ ®0) ) | Q o o |
- I z 15547 I
J | % !
W;JI ¥\ Liiiiiiiiiiiif 7777777777777 J
®©® IRFILA Yk
ﬁ Y, = .
A &6 HERE t=1.6L1 L
USB, AC7 by D EEMRIEAE4R2/2ESBB L T Z &L,
O
5 = D€cu¥1ent Name
anel Interface
T MADOKA SYSTEM co.ltd {1y HCON-030-383 UxCHUs
- Tk 1/2
5 f?}% Yamada|Yamada 1/1 Document No A3
Date Design Draft Check | Confirm | Scale M0051 A383D SIZE
1 2 3 4 5 6 7 8 9 | 10



1 2 3 4 I 5 I 6 7 I 8 I 9 I 10
O\ | 22710728 7-v-rmsitmeE. 4 : o @ 777777 T\ d = =
7-A-DBE B R A AMAE N AVE 1L H ‘ ‘ nE s & % ER/BRE/ M B | A—h— |ug
O\ | 227324 PBigmiz i S 2 n):: | Wonpro | @ o) o1 | W4l MO051B383C wanoka | !
A £ AZZE M3 x 8/vehz—M3 x 845 | | CM 1 :SPCC 1.6
18112 N AMREEE 1L | C| |:| D | 92 om -t |[MOO51B992A t=2.6 |[MADOKA | 2
Rev. | Date | Content Name " Fﬁ - 93| E'z M3 x8 #5 2
égzﬁfl/} p % y | sa[Ac77ror [RT6BTNS Wonpro | 1
— a1 _
| )
\ \
o
B
CM 0
53 4 4% HRE [ (FIF347
— MCON-030-383 PB Ux CM Ux
“ T @ U0:USB#E L
UA:USB-A
A UB:USB-B
Y gg‘ -3, C%?”};'*’{E @ CM:chEvT
BEN TN (%42
PB:PBT (UL:V-0) UO:USB#E L
UA:USB-A
— UB:USB-B
D
B O\ WA7-3% 2
4 |
e N
7 - — N\ Q Q NEmE & % EH/BE/HE | A—h— |us
— AN (/f\ N ﬁ O L__ -2 4 (XD — 1 XD Uo |81|usB73v9n M MIUSB1-BL MADOKA | 1
N OY)) =) Sle) \ \
SN : [ T P [ o M NN
® o torero o '® 1 1 = | | 1E3] | —= = e
G |:| D USBE¥#H | | | | | DEma & % EH/RE/ M B | Ah— |ua
F | | | | | 83|usBazss  [MIUSB1-A-B MADOKA | 1
(i ~| ~ (i ~| UA
USB % y USB G = 3 X L UB [82[t® M3 x 8 /T HhA —- 2
o) & uo UB
—_ AN O \ O ==
a )
82— O J@/ EE I (B EEE TA)
\ R e ——— ) THYET EYES
- ’ D TN
b g MADOKA SYSTE itd Panel ln?g??gge e
G o] = €008 Type :MCON-030-383 UxCMUx
9 HigE 2/2
f?}?g Yamada|Yamada 1/1 Document No A3
Date Design Draft Check | Confirm | Scale M0051A383D SIZE
1 2 3 4 5 6 7 8 9 | 10




